) 232 4 chapter 2; Functions and-Gra‘phs-. -

2.1 EXERCISE SET

Practice Exercises ';_ ,

In Exerczses 1-10, determtne whether each relation is a fancttan ]

G'tve the domain and range for each relation.
v 1. {(1 2) (3 4) (5 5)} functton 1,3, S} {2,4, 5]
SN2 5),(6,7), (8, 8)} function; {4, 6, 8}; {5, 7, 8} .
y 3'_. ((3;4),(3,5), (4;4), (4,5)} notatunction; {3,4): (4,5
Y4, (65, 6),.(5.7), (6,6), (6, 7)) ot susetion: £, 65 (6,7}
/5. {3, -2), (5,~2), (1, 1), (4, O} function: (3.4,5.7; (2,1,9) - -
/6 {(10,4), (=2, 4), (=1, 1), (5,6)} function;{~2,1,5,10}; 1, 4,6)
{
{
{

“{h

[ 7((=3, =3), (~2, =2), (=1, =1), (0, 0)} function®
'Vs,. (=7, =7), (=5, =5), (=3, =3),(0, 0)} function*
9. (1,4),(1,5), (1,6)} notafunction; {1}; 4,5, 6)

0. {(4, 1) (5, 1), (6 1} function; {4, 53, 6] {1}

a function of X
Iox+y= 16 yes.
13, xZ +y=16 yes

) '12. x + y = 25 yes

. 15}.,)6‘2 + y2 =16 o . 16. * o+ y2 =25 no .

- 1'7. .'x = y2 110 A18. 4x = 1o : .
' 19.y = \Vx +4 y‘es. e B 720,. y = '“ (x4 4 yesi o
21¢ X+ y3 =8 yes ) 220 x + y.3 = 27 .'chS L
23. xy + 2 = 1 yes S 24. xy.=~ 5y =1 yes
: 25. |x| -y—-2 yes ' 20 |x| -y*5 yes:

I Exercises 27-38, evaluate each fanctton at the given values of

- the mdependent variable and szmpltfy

", f(x)~4x+5 v ‘ :
“b. f(x +. 1) 4, +_9,

e h(~x) at ot +1 d h(3a) 814" = 9aﬂ+b 1 =
/32, h(x) =% —x+1 .

n h(3), zs; s b.h( 2) -5

3, f(r) Vr¥6+3 L B T
B / oA f6) 3 - f(10) 7 k c.‘f(x.-r-G,),..;'f,.~;
' | v34.'-’_f(r) = \/zs —~r——6 L e

*See-Answers to Selected Exercises,

'II36. f(xj 4x +1}‘ o -. »
a f(2) LR W (CP) I S (I
” "37. f(x) |x| | »'
[ er@n w0 e f.(rZ) i
38 f()—‘xj:gl' | | |
o) i b (- 5) = o f( 9-x) ¢

: 1% Exerczses 39—50 graph the given fancttons, f and g, in the ’
" same rectangalar coordinate system. Select integers for x, starting
. . with —2 and ending with 2, Once you have obtained your graphs,
S describe how the graph of g is related to the graph of f
_ L3 f(x)—x,g(x)~x+3 x0T
'In Exercises 11-26, determtne whether each eqaatton defmes y as"f'"_-‘ A f() = xg(x) =X -4 v o :
- Coe 4l f(x) = —Zx,g(x) = —2x -1 o L
A2 (%) —-_-2x, gx) = =2x + 3 W T
A3 f(x) =R g(n) = AP 41
:1144- FO) = 3% g) =2~ 2 «
‘45. f(x)

. 14. 2+y=25 yes‘.v

S '47. f(x) =xhg() =5 +2 »
A8 f() =g =P =L

49, f(x) = 3,8(x) =5 v

- f(x) —_.—1,g<x> =4

i the same rectangalar coardlnate system Use the mteger values

© s, f(x)
s e

Coaf6) _c. f( x)
28 flx) =3x+7 - o :
VoA 9 b f(x+ 1) 3x+.1_o « f( x)
29, glx) = x? +2x+3 S Sl O
| ae(- 1) 2 by g(x + 5) s e 'g(ex) wo
: _30'._g(x) *x - 10x - 3 L : .
Coag-1) 8 (x+,2) o e g v
.31"”,’1(35)”‘364—‘26 +1 R AR I
w13 b (= 1y 4

' "'-’f_' 53, f(4) =

: o “54. f(x)
/ e h(=x) < Fydl & h(3a) 2t~ 30+ 1 e SR

- function

|xl =2
x| +1 .

|x],8(x) =
= |x|,g(x) =

.of x given. fo the rtght of each fanctton to obtain ordered patrs

\f (x—-0149)and._
) = Va =1 (x =0,1,4,9)
A (x——0149)and"-'
- g) = \f+2 (=0,1,4,9)
Vi (5=0,1,4,9) and ", e
g = \/x-1 *=1,25 10) - L

\f (x-.0149)'and

(x)

which y is i fanctton of X ,'




’thousand 28, [x|xlsareal numbe1} 1dent1ty
~,,except 1and1 Adentity 7 -

R '—3\f4+3\f}
o (2224102

o
:_46g St A
{1+3z\f1-'32\f}

-72. 2 unequal real solutlons that are rational

e, (20 8) 8% of college students antwipated a stamng saIaLy of $20
30. ‘all real numbers

7.2 complex 1mag1nary solutlons
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_4,/

(11*3 ~~";a".‘
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y x2 4

' ,_104. {xI 3=x< 5}

105 {xlx > ~2}

. s, .
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106. {rls = 0} o M [=2,@) -
[ I ~ o > e
’ 112.’-[3,%5)' : -113( -, —,2—)
R - A ‘
A N : : T g \. >
3. ' - 3 ’
5 )
114, (=3,%) - - 116, (=0, ~2] .
. Y - g e 4 >
-3 " - 2.
tol 117, (2, 3] 118. [-9,6] <
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L
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(=7, -5, 3,05 {-7,—5,

29, b, x> + 12+ 38

ook + 108 =3
R

l..;.l
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The graph of gis the graph of f

sh1fted up by 3 umts.
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The graph-of g is the graph of f

‘shifted down by 1 unit,
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30bx -
.84, c.\/i;c—ﬁ
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The g1aph of gis the graph of f

shifted down by 4 umts
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The graph ofg s the graph of f

- shifted up by 3 units, S



